| N of simulated tracks vs dxy |

Ratio

10?

10

.....................................................................

. =
[

N of associated tracks (simToReco) vs dxy |

(%) [ . n

Q : o

Q0 - : — S ST ST SO SO UURRNS SUURR

— : o)

T 104t S S fol

o o " 3]

[@)] - H S e o e e b iaea e

£ B : =]

g 2

% 103 R T T Y Y S (@]

- E (]

I— E D I S S S S S
C x

Ratio

57710 15 20
TP dxy (cm)

5 10 15 20
TP dxy (cm)

—=— DQM_original_step2__ pt1000_etalp6to2p0

—e— DQM_mkFit_step2__ pt1000_etalp6to2p0

—— DQM_pixelCPETemplate_step2__ pt1000_etalp6to2p0

z
o
=
@,
3
=5
Q
=1
(1%
Q.
—
-
QD
o
X

(7] 7]

Q@ o

Q = T S SOt SN R SUUURRUUUOT SRR

= o]

& 5

o) 3 Nt SO SO AU U

= 2

X 0

O C

: :

I— be3) T P ST SO SO PPN SUPTUPUN
nd

Ratio
Ratio

100 10 20 30
TP dz (cm)

10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


